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uint8 a_TimeBase_Cnt; [/ R

bit fg_RH_Module_Convert;

bit fg_RH_Module_Mode; //i{5 Ak FE

bit fg_RH_Module_SBus; //SBUS mode

bit fg_RH_Module_Done;

uint8 a_Module_Buff[5];  //xE A7 B8R EUA
bit fg_RH_Module_I2C; //12C mode

bit fg_RH_Module_lInit; [ U540

bit fg_SBus_error;

char count20ms_F;

void __attribute((interrupt(0x0C))) ISR_MFO() /R
{
uint8 a_temp_cnt =0;
_mfof = 0;
if(_t0af)// 10ms 5 i}
{
_t0af =0;

count20ms_F +=1;
if(count20ms_F >=2)// 20ms €}

{
count20ms_F =0;
//
if(fg_RH_Module_Init == 1)
{
Display_Scan();// Display
}
//
a_TimeBase_Cnt++;//11%(#% Counter BN
if(a_TimeBase_Cnt >=200)// 2s
{
a_TimeBase_Cnt =0; //11-%(#% Counter /&%
fg_ RH_Module_Convert =1;
}
//

if(fg_RH_Module_Convert == 1)
{



if(fg_RH_Module_Mode == 0)// 1 wire

{
uint8 Byte,Cnt;
pn_Bus_0(); //BUS %t Low
if(fg_RH_Module_SBus == 1)
{
fg_SBus_error = 0;
pn_Bus_1(); //BUS i th High
if(fg_SBus_error == 0)
{
a_temp_cnt=0;
do
{

a_temp_cnt++;
if(a_temp_cnt >=100)

{
fg_SBus_error =1;
break;
}
Ywhile(pn_Bus);  //554F BUS = HELT- 45
}
if(fg_SBus_error == 0)
{
a_temp_cnt=0;
do
{
a_temp_cnt++;
if(a_temp_cnt >= 100)
{
fg_SBus_error =1;
break;
}
Ywhile(lpn_Bus);  //554F BUS Ik HELT-45
}
for(Byte = 0 ; Byte < 5 ; Byte++)
{

for(Cnt=0; Cnt< 8; Cnt++)
{



a_Module_Buff[Byte] = a_Module_Buff[Byte]

<< 1;
if(fg_SBus_error == 0)
{
a_temp_cnt=0;
do
{
a_temp_cnt++;
if(a_temp_cnt >= 100)
{
fg_SBus_error = 1;
break;
}
Ywhile(pn_Bus);//5#fF BUS =i HL T4
}
if(fg_SBus_error == 0)
{
a_temp_cnt=0;
do
{
a_temp_cnt++;
if(a_temp_cnt >= 100)
{
fg_SBus_error = 1;
break;
}
Jwhile(lpn_Bus); //4% BUS i L F- 45
K
}
GCC_DELAY(80);
if(pn_Bus ==1)
{

a_Module_Buff[Byte] =
a_Module_Buff[Byte] | 0x01;

}
fg_ RH_Module_SBus = 0;



fg_RH_Module_Convert = 0;
fg_RH_Module_Done = 1;

}
else
{
fg_RH_Module_SBus =1; //SBUS
}
}
else//IIC
{

fg_RH_Module_Convert = 0;
fg_RH_Module_I2C=1;



